restart;
# Work a complicated antiderivative related to surface area

f := tan(X);
f:= tan(x)

dfdx := diff(f, x);
dfdx:= 1 + tan(x)°

P := int(f*sqrt(1+dfdxA2), x);
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P:= %\/1 + (1 + tan(x)z) -3 arctanh
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F2 := diff(P, x);
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simplify(F2);
tan(x)ﬂ/Z + 2 tan(x&2-+ tan(AO4
F3:=tan(x) *sqrt(l+sec(x)A4);
F3:= tan(x) A1 + sec(x)4
simplify(F2-F3);
0
F:=unapply(P,x);
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F:= xe% \/1 + (1 + tan(x)z) -3 arctanh
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A1:=F(2*%Pi/5)-F(Pi/7);
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—> eval f(Al);

4.789770537

> Digits:=100;

Digits:= 100

> evalf(AD;

4.7897705198439850970740463482372790683118139684364354131374242549384098711
2211386306595720659444298

> restart;

[> # Find an antiderivative

> int(In(x)A2,x);




In(x° x- 2 xInXx) + 2 x

[> restart;

> # Work an arc length problem

> fi1=yA3/21+7/(4*y);
dfdy:=diff(f,y);
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dfdy == =y - —
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> int(sqrt(dfdyA2+1),y=3..5);
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